SBEROBENM H0V- (kcal) EHE (g) 189 (g)

#H (ZRAM) 1-X
=L} XZ—1—-% o | 9| o 2u | pic | e we| SREERRSY
3L o S
9 |mecEsFomENL — o y | 495
RIBRLE o |
| RIARBTHR o =
FSNAEBIRL (@] B | 19.9
E-7> o =
R e ;"j‘ 2.2
TREBEEREORL S hE o S
10 |prEEm o o , | 409
MOFEPAINSOEEE o |
SAMENZHYERD (e} O O =
AISEOMHOYSS o B 147
P H
N 15
N 2.6
Y-E>XINY ololo A
11 |peen o 5' 515
BEROHBTEEL o |
g|EPUFIIF L o =
IIY54 (@] B 14.7
A o “
K |ER O i;i; 6
FOLEOEFORIBF P ERANS olo A
12 |mremsonny o 5' 509
21934 O O |
g|177EAB ORI o =
BRY34 (@] B 17.9
R =
* ;RE; 1.9
BEX/MwMIR/MIE |o|o|ofo]o S
13 |UphFEen-1>& O|O| O y 590
TR G o| |o |
HZERR/CH5S o| |o| |o =
IKRDOERL (@] B | 17.5
CHR H
Ed 15
N 2.0
FRRIESL IS o S
14 [#FEOTAH o y | 456
IEFY o|o|o|o |
FSNAERRAZ o| |o =
vlEE O B 17.1
ZER &
t 15
N 1.9
P R ol |o S
16 |2oxx/mHa o y | 54
RELE—TMHE 0 |
ILFYSH (@] =
IKEREMTROBINFIZ 0 B | 16.4
R =
R &8 2.2
5 2
BB RYOMALER 0 3
17 |&FE>s o y | 621
e 0 |
Uz o| |o =
BHTEM 0 B | 16.4
R =
N 15
N 1.8
VUEEHROTEE ololo S
18 |82 mEFTLD 0 y | 459
ABLTEERFA 0 |
| EFOBEL 0 =
ABEZDEOELE 0 B 12.3
b5 0 =
7K 15
N 2.6
FREDLLEREES ) S
19 |yFUent 0 y | 476
Ty ARV olo |
FUYRE—FYVRIR o o| =
TREESNABEDYF— ololo B | 18,5
DTEFE o =
A e ;"j‘ 2.2
TIRETET ) S
20 |FRofmmEYT— 0 y | 526
UehEASSEATESS (O] |O |
KEHBFOEEL 0 =
JOyIY—-sARF0Z O B | 18.7
R =
& 15
N 2.0
EDBORBEE 0 3
21 |Fmeyror-LE olo y | 480
FOUVROIEL o| |o |
IhO=H54 olo|o =
FrARYHEERFIZ B 154
BRCENZ o &
R ;"j‘ 1.7

5. QALK BRIz —EPEEERTIRKILNHNET . OFET



